A\ HHH 7
\\\\\ ..*u..ubsg”/
K -0
50-1/2" MAX. S . f&g §
O.A. FRAME WIDTH SSiy 8 |84,z 8
=5iF T |pEiZTC
515 N. FRALEY STREET Z Mg s gq,;gg‘_ g
KANE, PA 16735 ] Z v, SHIE go
PH. (B14) B37-6464 R B P L3R
Yy e of Sgoo
Hpiny 5g0s
L, & it
_ o xz<
VAN GUARD Il VEEy 28,°
VNEgE 5024
ALUMINUM HURRICANE BARRIER NP2 Boad
DUTSWING FERN
Il ] 3 'gu.
IMPACT = §id &
I
O o "
= o e B
= NN a (LT:; Cz)
o = S W
o= ~~ < ) — - E’
@ -2 =0
/ 2 wesl Sz
00 & X2l E
GENERAL NOTES S < Sl O
oTeoteT c“o‘,"lc;" O TJO% g Lj 3
gegeesce =T
1. This product has been evaluated and is in compliance with the 5th Edition (2014) Florida y 4 éi‘% Q :(,Q
Building Code (FBC) structural requirements including the "High Velocity Hurricane Zone" 7 [ = g x gé
(HVHZ). / 2 S| | ml
/ g < E a
2. Product anchors shall be as listed and spaced as shown on details. Anchor embedment to ’ : / ol
base material shall be beyond wall dressing or stucco. - | ] 43
O
3. When used in the HVHZ, this product complies with Section 1626 of the FBC and does nof 4,7 ] i
require an impact resistant covering. ! < E
o
N
4. Site conditions that deviate from the details of this drawing require further engineering slS %
analysis by a licensed engineer or registered architect. Y-l B
Slal 1>
n o L
5. Al steel shall be protected as specified in Section 2222.6 of the FBC. ) § -
Ly
sg
TABLE OF CONTENTS s
SHEET # | DESCRIPTION 0|2
1 Typical elevation, design pressures & general notes OVERALL SCREEN DESIGN PRESSURE (PSF) | DESIGN PRESSURE (PSF) ol
2 Barrier panel secfions, components & screen details MOUNTING STYLE FRAME OPENING | (without Porosity Factor) | (with Porosity Factor*) QONES
3 Reveal mount sections - masonry wall DIMENSION DIMENSION N
4 Surface mount sections - masonry wall POSITIVE NEGATIVE POSITIVE NEGATIVE =]
5 Reveal mount sections - 2x wood framing ; . =
6 Surface mount sections - 2x wood framing REVEAL MOUNT 50.50 41.78 70.0 70.0 110.0 110.0 OATE: 8/26/13
7 Surface mount anchoring - masonry wall X X scale:  N.T.S.
8 Reveal mount anchoring - masonry wall SURFACE MOUNT 110.375" 49.18” 70.0 /0.0 110.0 110.0 owe. BY: UK
9 Surface mount anchoring - 2x wood framing
10 Reveal mount anchoring - 2x wood framin * gis B LFS
evea h 9 o 9 NOTE: The Design Pressure shown has been increased for the porosity of the barrier (62%). DRAWING NO.:
1 C?omponen_’rs and hardwors 4s ?.'S The consideration of the use of the porosity factor is at the discretion of the FL—10238.1
12 Bill of materials & lock release options Design Professional or the Authority Having Jurisdiction. : P
SHEET _ 1 oF 12

R:\Clients\Kane PERMANENT\Florida Product Approvals\FL-10238\Drawings\Current\FL-10238.1-.2.dwg, FL-10238.1

© 2013 R.W. BUILDING CONSULTANTS INC.



\\

@ @ 4” FROM CORNER 51) Sk ot W
_ ” .-' .’,. ~,
*2‘041"ﬁ 10-1/4" MAX. O.C. - 5 g4 R N
e 5y 8, |86 a5k
= (/ ~ 2 o —58@ :* Egé?d'\
z o O = = = [ ] = %3 £ [BEOs5, e
%2 > Sz 8an
41 Uy, ""&Oé\/\‘\\ Sgek
LOCK 1” FROM CORNER @ HINGE K 0 SO
LOCK TO MAIN FRAME 2-7/8" Max. 0.c. \*)) / 2"\ HORIZONTAL CROSS SECTION HINGE TO MAIN FRAME & gR"2
ATTACHMENT W ATTACHMENT N -
3 2 28%¢
@ 2.125" — ~[2 8 § . 2w
—— 1.459" |=— -8 N g8y 5588
i IQI : u.'d- Do
i .. - o .9 §
N Q o » £ OZ
L [\ ! | | 1 X @%
2 A Q ﬁ @ 8 2o
“/r % B = o 0 5 2
=TT | - ™ — ~ 0.06” =5
__ 4B.00" MAX. OA. __, G>/ | } D - £ g 59
MAIN FRAME WIDTH . ==
™ 0.959 f ) ) e
41-7/16" MAX. W i e 0 it I
'~ SCREEN OPENING ——| CORNER ASS'’Y DETAIL — @ HORIZONTAL BRACE <:> MAIN FRAME o 8885% = g
<C
. WIDTH (TYP.) '-é—'z%;. =,
© > SSs|¢ Sz
‘ P e =
o = o
=t Sl Sa
=) D aa)
& h o i b S
= [ 1 xr | < O
o Q ©
G oo o 1.494” |=—
© 5 © o é é % E_\ :O‘) .2 g gg
2 O = O = L wn S 8
- [ Tz 1 N
? b »Es 3
(30 Leeld 1 S|E
FOT <L X S ol 2
» oz @ MAIN FRAME HORIZONTAL BRACE slo| 6
J % - SECONDARY CORNER KEY CORNER KEY ‘ s|E| 2
E% MAIN FRAME olg |&
e @ COVER & e
© 218
. ®z 215
& OAOAOAOAO =
\@ = 080808080 . @ o
OEOX0S00 Ty N
080808030  « , S
0202080 1” FROM CORNER sl
080800 3" MAX. 0.C. o N
/%OOOOOOOO =
| 7808030308 A
OQQCD DATE: 8/26/13
S 34 4" FROM CORNER SewE: N.T.S.
10-1/4" MAX. O.C. Dwe. BY:  JK
S SCREEN DETAIL ST RO CHK. BY: LFS
14 GA. (0.0785") TYPE 304 7 V, DRAWING NO.:
STAINLESS STEEL CORNER KEY (17 VERTICAL CROSS SECTION FL—10238.1
(OPEN AREA = 51%) \2/
SHEET _2 oF 12

R:\Clients\Kane PERMANENT\Florida Product Approvals\FL-10238\Drawings\Current\FL-10238.1-.2.dwg, 2.1

© 2013 R.W. BUILDING CONSULTANTS INC.



"ON| SLNVLINSNOJ aNIaling

MY ELDZ O

_Al.z_z oo
4
AHV //L

_

_

©
Ol

EXTERIOR

PROTECTED
SURFACE
" INTERIOR

195440

€186 'ON V'O 3dgd SNOISIATY
L616°6G9°CL8 :"ON suoyd STIVM AHONSYA i _
GBSES 74 ‘OOMIDA ‘OgZ %08 O'd \SV SNOILO3S INNOW 1v3AFY % SNILVY "d'd ALISO40d a3aaY] Qw%_\mw_ oﬁz 2luix|@] m_
:_.m;__ .mwzﬁ._:mzoo ONIaTINg @ ‘ATEW3SSY 80 Ldvd [ s1| 0484 (¥10z) "a3 wis ol 3vadn| ci1/10/.] 2 REEE MK
W3 WNo S3HEVE INVOIGSNH WINIAMTTY NE e = M|
///ounr ............ (XN 60¥SH ‘ON '3'd Il d4vN9 NVA © Elsle |
I/I&/ o NOWOZy e R % IPIWYDS "4 uopuAkd SNI340S INVH w4 ClEd |
> 40 31vis . R\\\ :Ag pespdeld sjuewnoo( :10Nd0dd W m z W w W
[0’ ¥ *
o 2 o .
o 3 o Z =
= = =0
> < = D_.r_
[ | [ % % 7
_M -0 m'm
> M L
) |
: .
i S i i
< z = Q S
o] =
@ = _
/ v . w x I
o O = o W
Z O M W = S
=% (MM N O o W
= = < = =
10 W = \«r =
N —_—— o — —_—
=& mW
) Ll
(IVOIdAL)
WAWININ
("dAL) faym "an3
J/1L—1
30VdS WIHS — (=— =iy /
XYW b/ L Q& .
=D 28] .
on = wM_ .Hm_m_ uoo.m_
o . 2O NIN . G2L'¢
N
. Z
£8. 75 T
sa N |
wn W o ,4 )
st :
VH \ : v
2]
« . =
7 B

/ 2"\ REVEAL MOUNT — STRIKE JAMB
\_3_/ LOCK REMOVED FOR CLARITY

m
(%) 3|z
=
_\_.....- a4 =
v o Tlx
o M T4
0 > H o
= - =Y
wo
s|2
@
(&) 2,
i
\\mw HE
x|T
—m
; L .
>
<< ~ N
M%P. < .
s Jv ‘A
+sC
>~ P .
W T
7 ‘1SId 3943
‘NIN ,GCL'¢

T'€ 'BMPZ-T'8€Z0T-14\1UaLInD\sbuIMeIq\8EZOT-T4\s|eroiddy 3onPOId BPLOIA\LNINYINYId dUeX\SIUAID\Y



‘ON| SLINVLIINSNOJ 9NIaInNg "M'd ELDZ

€186 ON V'O 3dad SNOISIAY

EBFGEEARLE YON A0RUd SNOLDIS INNON Sovsens |28 Aol _TON ey ol 5!
S6SEE 14 ‘O9MIDA ‘O£z x08 "O'd \§ S ONILVY 'd'd ALISOYOd d30av{£1/01/Z1] 1 4 uiXin| KT
:.ma_rwmkzﬁ._amzoo ONIaTINg @ -AT8NISSY ¥0 Ldvd | s47| 0g4 (¢10z) a3 wis oL 3ivadn| si/1o0/L] Z | © M 1. N |9
W ._<zo:$\ H3198VE INVOIIEINH WNNIAMTTY N RREE: 4_

04’& .......... \Q@ %, 60YSH 'ON ‘3I'd Il d4vN9 NVA t AR l__
ot NOWOZy R, IPIWIYOS "4 uopuAkq SNIFHIS INVM al9]s|ET|E
<& doawis 'O :10N00Yd HEITHHE %

x

* (h'ed
60VEY "ON o)
o @ m
(Gt o & =
1 WHDS "2, X T A
ST ~
Lol
=
2 )
e %)
4 = \ &
/ N N
< * _
& zZ L
) ME D
2] n o
| L =
S ey =
m M| < < M.w
2 (3 <
~ S ® :
A e >
m
M ]
T 5 ()
2 O . O
Sl , 26 =
"1S1a 3943 W 1SI1d 39d3
‘NIWN .G ¢ ‘NIN G°¢C
(vOIdAL)
WNWININ
. ‘anNd v/ L1
Z0 /
So
h. .Y
~ g
| - ] | — | - | -

S

/ 2"\ SURFACE MOUNT — STRIKE JAMB
\_4_/ HINGE REMOVED FOR CLARITY

: (®)
()]
Lol
T_Ln__ S S
22 .
S - &
&2 | z
aun | = e L
P > =
_ i 0 MW
| e Pm
o W 135440 MM
g 2 = NN LSS =3
[0 . [ad ~ x
= B |Z n|x
S
z <13 Wl
o Tl e
| T|w
=0 B>
<[l _— - - 11O
L m JM
s \.uw\ _—LDL U%
P i @ 2
2| T|>
Zlp= =l
2| O
T|> I|Xx
~la 2|18
|2 <3
|«
Aan S0
3
0| < =)
2C|_

2.5" MIN
EDGE DIST.

Tt ‘BMPZ-T'8€Z0T-14\UaLIND\sBUIMeIQ\BEZOT-T4\s|eroiddy 1onpoid epLOj\LNINYINYI dUX\SIUBID\'Y



"ON| SLNVLINSNOJ aNIaing "m's €102 @

€186 ON V'O 3daed
A A g e ONINVY QOOM _XZ She by .
b, o SNOILOIS INNOW TV3ATY A8 VG TONIm) elo| = |
S6SEE 14 ‘O9MIPA ‘O£Z Xo8 ‘O'd \S“@“ =] ONILVY "d'0_AIS080d_d3adv|ci/0i/z1] 1 || vi|X || 9|7
:_ma__:m.\_.z«ﬁ:mzoo ONIaTINg "AT8W3SSY ¥O Ldvd | s47| 084 (¥1L0z) "G3 4is 0L 3wvadn| si/1o/2] Z |« ~ . N 5
,,,c\w WNO, J3199v8 INVOISINH AONIAT TV Q= g = 5_
l//er . oSS Eban Q@\\\ 60¥SH ‘ON ‘I'd Il 4vN9 NVA @ Sl Ele |
S NOWOY . RPT  wpuyes w4 uopuiy SNI3HOS 3NV 1EIFM AR
Sy S domvis SO Z . - eI &
I K o R\\ :Ag pedodeud sjuswnooq :10NAa0dd S|3|18|5|8 &
&F 102 SA2Zy
2 * =
E % eovepoN ¢ = ,m\
‘\ l.l .l. ,II
\ ll ..
%, G NA &
U, Niids W,/z/
AT
¥ [0
S = 3 ©
= = x L x
3OVdS WIHS o L (2) L
E Pad
T OXYA /L 3 | &S &
= _
/ 5
f “ = y )
) y = O
< =2, =
o Z I
o =g L
L =
5 L /5 2
L . L
= N = mw
= % = W\
SRS S W
o
T
O _x
e
=>
mS
. >
T
o
O
P
=a W
s N
L NP Q
> O ~= s
< Mn. ~ - % 3 wlu
=4y =
vsE © <3
X Sk ® o
(v
, s s
(O |8
e y =B
S |2 (B) ¢ =k
® S :
z|y > Sl x
9|2 - bt
=G o |3
| DH T_Ll_ NN, ,.\
e 50 , mw
S| O =L
WO o
x| g x>
an |_  13s440 @
mw | ‘NIN &SV
_ S -
% 14 _
® > |
0 L _
= >
= s | -
S|z
SE
415
S =l
S o RS
a
= i —
= =| Y
3
S|
[
=4[
_.v_.._ )
A L <
x|T
4
—|
)
13
>
<Z~
=4y
¥ sE
/W g
w0
I~

T's 'BMpZ-T'8€Z0T-T4\1ua1inD\sbuImeIq\8£Z0T-14\s|ercddy 3onpoid BPLOIA\LNINYINYId dUeN\SIUBID\Y



"ON| SLNVLINSNOD 9NIging "M'd ELDZ @

€186 ON V'O 3dad SNOISIATY
L6L6°6G9°CL8 :'ON suoyd mzomwm_\,\m«mﬁ:eoo%g V@N A8 31va [ON
. . . . 3 4’. 2
S6SEE 714 ‘O0UIPA ‘0£Z X0g “O'd \SV@ . J0v4dns ST ONIIVY "d'0_MISOH0d G30av| £1/01/21 L || vi|% £ o 1_
E_m;__ :wzﬁ._awzoo oNIaIng "A18W3SSY ¥0 Ldvd | s57| 084 (#102) 'G3 WIS OL 31vadn| s1/10/Z| 2 | o] el BN S
SO N, SENGEVE INORTITE NIV NE g 2o
2 saeeeees, OO, 60+SH ‘ON ‘I'd NYA © &5 _
Q..V....LOEOMQ .....:&\\\\\ IPIWYDSS ‘4 uopuki SNIFHIS INVM G| 9 y wm. m gl W
& d403lvis .... m“\ :Ag Wwao‘_n_ sjuswinoog :10Nao0dd Z m m Wn m W._
152,
* o S
govEy'ON  § = n&\ S
RS 0
. ~
\Q\SIom W,,//// -
Ui o
o
[0
Lol
T
Py
L
L
<
o)
a _
5 -
T =
_ 5
S
o
@ > 3
4 o — s 2
= = iy
= L >
/ Q >
“ =
(e ]|
@ o s = A\ <+|©
0 o %
Ly L
=3 =
h, . Dl
e
L
.”‘. =
N 2
S -,
s X
i
=~ —
Tk iE
£/ / L3
w|© =2
|
/ s 5|3
= n
/ |2 b
) Zla
Sl S|@
x> x|
=[S =S
= ClE
3 51
% & X it it
l..' Slo OO
@\ dle) Z|0O
<|3 <[~
mw mw
x
S O
o i
b =
= >
P W o< "%
O
o S
() L [a'
] = e
N = =
OO = >
e L
=l
owum _
_
_

| 135440
o @ NN £S5

"
@

71"\ SURFACE MOUNT — HINGE JAMB
\_6_/ HINGE REMOVED FOR CLARITY

> 3
P 4

T'9 'BMpZ-1'8€Z0T-14\IUaLIND\sBUIMeIq\8EZOT-T4\s|eroiddy 1onpo.d BPLOIINLNINYINYId dueX\siualid\y



R:\Clients\Kane PERMANENT\Florida Product Approvals\FL-10238\Drawings\Current\FL-10238.1-.2.dwg, 7.1

\\\‘ I[I
2 ~jp==s § =y SE&TT,
o o -~ o))
a >z : T = S, o Wz 5
S L 1 = 2 SSy 3 4 = 0
Fx = © =X:i2 3 I
= & ) 00 R =t * |PE: L=
b — o @ — i) = O: o =g N
s N z®:3 2 & O; -2
<Q 2N AN TR R v SOSE go
82 || z¥ Ty 5 4 Y S kS R
o G Y .. 3 - % - E ) /,//, ........ OQ\Q\(\\ 53 g @
2 ) 125 __’~ ,I \ 0 . ™~ .
S0 E e @@ [k o (& N ZJwg
f =y TYP. HEAD Ve ox8%
: Nfg c8 572y,
2 \ NESYy 5088
= LT @modow
I L s Evg
. o TN
| @ i Do 3 2ui
S 8 2a
TYP. 0P -
o L o
______________ —J @ =
CCCCCCTITIIITC il <O I r X
<§E Ll " = 5‘1
O =
SHOWN FOR —/ =z S =2
REF. ONLY <+ I @ Ued|
o~ <=|.: >
@ F3E| 2 S
o
wo2|2 S5
J [: [ TYP 2<ZE 7 g(’
MASONRY i : SEEQ B=
TYP. JAMB o 2| |
AND SILL o 55| &
> = o)
0 8 JlE| v
SUB—FRAME el
STRIKE JAMB = [ 00>
/i ANCHOR R 5| 5|
[/ THRU e —
STRIKE PLATE e ‘\ Q
S SUB—FRAME “le
/1 HINGE JAMB D=
—|<C
P 35" % 35— / S
‘ : CO—] & e 12
= = =) el
45 @ 5 {% %
ANCHOR DETAIL —— 8l |x
SURFACE MOUNT ATHRU °|S
SUB—FRAME ANCHORING SUB—FRAME L.':(_. o
CONCRETE ANCHOR NOTES: £3
1. Substitution of equal concrete anchors from a different supplier may have different edge ANCHOR DETAIL = :
distance and center distance requirements. gq W
2. Concrete anchor locations at the corners may be adjusted fo maintain the min. edge oy i
distance to mortar joints. Concrete anchor locations noted as "MAX. ON CENTER" must be NS
adjusted to maintain the min. edge distance to mortar joints, additional concrete anchors = =
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded. N7z

3. Concrete anchor table:

| MIN. CLEARANCETO .
ADJACENT ANCHOR

IT
TAPCON®

2-1/2"

(3-1/8" @ STRIKE)

4ll

oATE: 8/26/13

scalE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
FL—10238.1

SHEET _7 oF 12

© 2013 R.W. BUILDING CONSULTANTS INC.



R:\Clients\Kane PERMANENT\Florida Product Approvals\FL-10238\Drawings\Current\FL-10238.1-.2.dwg, 8.1

0
00 s
— 0
I~ M
3 1
(@] _ _
=z
I o] -
o I
>
<
=
. H n
: o
o )
Co ©
Ge
O_, )
s & [
<C .
=0
. =
<~ T
~N

0.C. TYP.

me2

TYP.

SUB—FRAME
HINGE JAMB
CONCRETE ANCHOR NOTES:

ANCHOR
TRy (52629

SUB—FRAME

ANCHOR DETAIL

1. Substitution of equal concrete anchors from a different supplier may have different edge
distance and center distance requirements.

2. Concrete anchor locations at the corners may be adjusted to maintain the min. edge
distance to mortar joints. Concrete anchor locations noted as "MAX. ON CENTER" must be
adjusted to maintain the min. edge distance to mortar joints, additional concrete anchors
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded.

3. Concrete anchor table:

MASONRY

M

e

a 5 .
: a4, e

2 TYP. HEAD

= 11

TYP. THRU STRIKE
PLATE ANCHORS

REF. ONLY

I

[l LI |

a

G262

- Tad
T P

TR TR AT a TN
L e
)

3.511“

_ MIN. | MIN. CLEARANCETO | MIN. CLEARANCETO
YPE . - |EMBEDMENT| = MASONRY EDGE | ADJACENT ANCHOR
ELCO i i . 6
ULTRACON®| 3/16 1-1/ 3-1/8 (3-1/8" @ STRIKE)

52 @ TYP. SILL

REVEAL MOUNT
SUB—FRAME ANCHORING

TYP. THRU SUB
FRAME ANCHORS
BETWEEN
STRIKE PLATES

e 77
k‘ o x 3,1,’/
Q vevereeed I VAL %,
N o e, HON
NN “%Z o
< \SE: L6
o= NSy 8 s>z 8
Eﬁﬂ'—'—' - I:'ﬁ 3* p X"
2 §¥ 3 o: < < g:zﬁ I~
M EX ®© (.D'.% e} b O >0
M Qo= W 2 Z F 903G .-
n ™~ ¥ W' -'6\’— oo
o Om = o, .'Q\*Z 0 g m
© n— E % O LogPS 2232
o “, X PRONS 3355
1 & KT8 SO B
. om®2
Py O N -
. o, o xS<
T~ TYP. THRU SUB [3 8 232§
_ L FRAME ANCHORS |5 E2 5% ¢,
BETWEEN ] 8;#) = o‘g%
. D STRIKE PLATES | ¥ m@daoik
_ 2]
2 . 2L
o)) Q £ 6%
© FOo 3 Bui g
o 8 2d
°g "
N g o
| x s
. X < &
= n oS
0 »— |
== (S
0n=Z Z§
g, =
<=l =2
(&) x=
»3% g SZ
I w=T|3 23
= T
G Syl ¢
S S|o| o
g =] S| &
e <| %
[a o
[| 0>
—hr— B
’ SUB—FRAME Q
STRIKE JAMB Ll
JE
NS
ST
6] 1% =
[a)la] I®)
g ANCHOR w =
THRU slel |2
Li STRIKE PLATE Vil |
S
—— :
e
S|a
ANCHOR DETAIL 5|2
0|2
bé“,:(i
=12
RSE
~|=2
oATE: 8/26/13
ScAaLe:  N.T.S.
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
FL—10238.1
SHEET _8 oF 12

© 2013 R.W. BUILDING CONSULTANTS INC.



‘ON| SLNVLINSNDOD 9NIa7INg "M'd" ELOZ @

€186 ON V'O 3dad
L616°659°CL8 "ON suoyd ONINVYd dOOM _X¢ Ad SHOBIAZ 31vd [ON -
e e ONIHOHONY INNOW 30v49NS - ol slelol w1
. sl ) S41 ONILYY "d'd ALISO¥0d 03aav|el/oL/zi| | 9 Xl N
:_m;__ :wwzﬁ.smzoo ONIaTINg ‘AT8NISSY H0 Ldvd | 51| 084 (#10Z) @3 WIS OL 3vadn| si1/1o0/2| ¢ |« . |8
W J<zo\$ YF1989vE INVOISEINH WANIAMT Y Q)= g 2 9_
OAVW............Q&J\\\ 60¥SH 'ON ‘I'd I d4vN9 NYA © &l 5|e |
o OOy ....&s\\\ IPIWYDS *4 UOPUAT SNI3HIOS INVM 1= ET |
. 40 3lvis .... om\\\ :Ag peupdeuq sjuswinoog :10Nd0dd W w g W m W_
1z o5
M xS T°Z
60¥EY ON

SIMIYLS OML
d0L N3I3ml3g

«L8L°L w _
IMIALS %

SUB—FRAME
STRIKE JAMB

A\ }
ii
ANCHOR DETAIL

ANCHOR @
THRU

STRIKE PLATE

3.5"——-| "—

I
623
Y //a

TYP.

HEAD, JAMB

=

AND SILL
REF. ONLY

SHOWN FOR

]
]

3.5"——-| |—7

42A
SURFACE MOUNT
SUB—FRAME ANCHORING

MNNNN

——-l l——3.5"

.10 0L 10 3ONIH

‘dAL "0'0 'XVAN ¥¢

——-1 |—~—3.5"

2X FRAMING

oy |
In:)
ANCHOR DETAIL

48

JONIH
«88Ll°L _
dAL S°¢

3ONIH 4

‘dAL ,&¢

SUB—FRAME
HINGE JAMB

ANCHOR @
THRU

SUB—-FRAME

T'6 ‘BMP'Z-T'8€20T-14\iuaIND\sBUIMEIQ\BEZOT-T4\s|eA0iddY 3onPOId ePLOI\ININYINYID BUBN\SIUBID\Y



“ON| SAINVLINSNOD 9aNIainNg "M°'y 102 @

€186 ON V'O 3da4
CHEEE 7 *PSKIBR ‘GCR KD DL ONIJOHONY INNOW T¥3ATY — 2l slelo] w5l
: ) @ R ONLYY d'd ALISO¥Od 030av|£L/0L/21] L [T £l B
:_mi:w.\_.zs.._amzoo ONIQTINg ‘AT8WISSY d0 Ldvd | 547|084 (+¥10Z) "a3 Wi oL 3lvadn| si/1o0//| z |l = . N &
W N/, Y3198va INVOIGENH WANIANTY NG ¢ 2o
a2 NN 0es, — il auvnd N, 2| 5 .
N neseee s SO, 60¥Sy ‘ON ‘3I'd A AR I
9oy &\\\ IPILYSS 4 UopUAY SNIFYOS INVH aldlsloET B
.... 40 3lvis .... \\\ :Ag pedpdeid sjuswnosoq :10N3d0yd M m z M w M
T, iSterez
Loeweron  § S E M\ mm &
. SoNgon i & 52 3
\&szo. S Feg™
\\\\\ \:Iom W///// = _._M._ Ll W
T 2B
WFBS
L
T
DILS ) @ .70 0L 10 3IMYLS Er
881’/ — "dAL 00 XYW ,+Z W GE .
| RE z2Ex
C—E=x 0 . 0 O o D _.rE _Dlm
o< ”
o ‘dAL 0°0 A 4
dAL 00 XVYN 8 0 7 2
XYW 8 ! Ly
INYLS D CHIE ) |«
o
T
O]
Z
w )
O
32
& 9
RANDI
L i
L T R TAR Y]
.S=X
PAWR
FEabh
™ ™
| ; /| |
| - [ Lo o S
* i w \
X o Il ‘ I ! X 0
© = S _ _\\h_KY © &
M = 11 83 2|12
. = e Il %3 - ' @ =
4 g / - @ Um L] W . — \ ) M WANA
S N / x< LB \ e o o=
i / —_ T |1 T -— \ * &M
/ =E |1 %) \ i M
/ ot | \ ol
/ F& b \ '
* N ] Z 2
) / PN R T (R NN NS S L B B S T T \ * I
| i
N
” S : ”
>
N
Q
<+
=
<
| mm :
(] [ ] 2
=G o
i
(@)
Z
@w (®) <
) @,
8 00 oF o *
. ||‘ _ XY ,£18°9 42 SEL
:mmnmIV_ — &S ZFm
— —wu 0 0 0O m O 0O w N E _L_| i w
N
88l°L nlT
70 OL 10 3ONIH
W ' "dAL 'O°0 XYW ¢
JONIH

T0T ‘BMP'Z-T'8€20T-14\uaInD\sBuImeIa\8EZ0T-14\s|erciddy 19npo.d epUojI\LNINYINYId dUBM\SIUSID\Y



"ON| SLINVLINSNOJ aNIiaing

‘MY ELOZ Q

€186 ON V'O 3dgd
S6SEE 14 ‘0OUIDA ‘OSZ X0 'O'd \E«&N SININOJWOD S| oI T Aood e o1 |2 || 3 2
Wi SLNVIINSNOD oNIdTing AIBW3SSY Y0 Ldvd | si7| 084 (v10z) a3 WS ol 3ivadn| si/1o/z] 2 |ol=| “| 7. 3 s
3 WNO/ 2, Y3193vE INVOIIINH ANV NG Al b
) %....:.. (WY 60¥SH "ON ‘3'd Il 4vN9 NVA Ry Elsle ||
VO .. O8N, G|2|e|z -
III.W/. a0} ) ~ IPIWLIYDS 4 UuOpuki] SN3IFHOS INVA G M s|leE LB
SYa 40 31vis ....0“1\\\ :Ag pedode.d sjuewnoog 110NJd0yd W 31835 m %
47 N Ty
¥ e RIS
T - 60¥EY 'ON s =
-~ % o ,I
- (A o° ~ .
%, o JoNaot A & 5 o0l 6
%2, XQ, ghessrettd N z i
U, Q\SIOW 5,/// &> 7 0
Hipgaw 23 —L @
o & % (C—
oS 00 H %
T 3 =
8 T
A DA
A g
| T
- _
b5 [ed ®
o H_ L |
5 — O
-6.°04  -96°0+
k
N e ONOT WIa =
o Z TV ¥3AO LLP8'S 2
/v S - .76 S
d — :.V.Vm.o ’ [—_— L Q
/ﬂ 2. LS 0O—] o3
0.048" ——|=—\ S _ m_w _ m =
~ _ _ L
5 n o 2|8 _ \* _ 2lg
/OAQ /H S(on S|
N
231
FYS0—] |
SCl L
«S/8°0 _ L
| SZ'9 | 5
_ “« _ m
« | .8 — s
: va a m Q
: 5 5 5| 8
¥ £L0
N m Wr_
» _ vrm Q.
_ 2960 @
_ :¢
.S/8°0 _
Sl
™ y * _ _ B
< . (1 =2 = g =
S g = ol _ | ol
3 - A Q) Q)
| 7 M A
_ «£9G6°0

T'TT '‘BMPZ-T'8€Z0T-14\WudLIND\sBuImeIq\8EZ0T-14\s|erolddy 1onpold ePLOJ\LNINVINYId Sue)\SIusID\Y




R:\Clients\Kane PERMANENT\Florida Product Approvals\FL-10238\Drawings\Current\FL-10238.1-.2.dwg, 12.1

\\\‘\“‘ x 'I"///
SIS Yo,
BILL OF MATERIALS (ANCHOR) 38 ~ &2 3

ITEM] DESCRIPTION MATERIAL 5id 3, (88253
S1 | SCREEN DETAIL (STAINLESS STEEL) STEEL Egﬁ ¥ X Egjz:-% 2
X | 2X FRAMING (SG >= 0.55) WOOD 2oy = 5"'0.,95,@ 5o
Y |HOLLOW BLOCK CMU (ASTM C90) CONCRETE %, .., 5?\‘\\ Zcgn
Z | CONCRETE MASONRY (3000 PSI MIN. — ACI 301) CONCRETE “, RO 2 323
A |1/4” MAX. SHIM WOOD s 2o
B | MAIN FRAME CORNER ANGLE WRAP STEEL L, ovgr
3 | MAIN FRAME 6063—T6 ALUMINUM s[3E, 2820
4 |'SUB FRAME 6063—T6 ALUMINUM \ NEsg 3 8w
5 | HORIZONTAL BRACE 6063—T6 ALUMINUM LOCK RELEASE DPTIONS €% Ro&l
6 | MAINFRAME COVER 6063—T6 ALUMINUM gl §
7 | MAIN FRAME CORNER KEY 6063—T6 ALUMINUM ELEASE TYPICAL BOLT AT 5 POINTS £Es
8 | MAIN FRAME SECONDARY CORNER KEY 6063—T6 ALUMINUM SPACED AT 24" OC 8 3o @
3)90 ESELZOAI\;;/EL BRACE CORNER KEY 6063—T6 ALUMINUM _ReLEnsE .

MBLY STEEL L .
31 | HINGE ASSEMBLY (TYPE 304 STAINLESS STEEL) ST. STEEL 2«2
32 |J STRIKE PLATE (TYPE 304 STAINLESS STEEL) ST. STEEL ﬁl o] 95
33 | EXTENDED J STRIKE PLATE (TYPE 304 STAINLESS STEEL) ST. STEEL @ﬁ\ﬁs égg =S
40 [#8 X 17 SQ DRIVE PAN HEAD SMS ST. STEEL @F‘\z\ﬁ' | E30s £0)
41 |#8 X 1/2 SELF—TAP SQ HEAD SMS ST. STEEL : 7 Lo3g =y
42 [#14 X 2 PFH WOOD SCREW (1—1/2” MIN. EMBEDMENT) STEEL e =52y o<
42A | #14 X 2—1/2" PFH WOOD SCREW (1—3/4” MIN. EMBEDMENT) STEEL LIFT QUICK RELEASE T =t
43 [#14 X 2° PAN HEAD SMS (1—1/2" MIN. EMBEDMENT) STEEL LDCAPTUESDH AQTUI%—KIEREIE_I\EI'?ESRELINE LDCATE]%TQ%SSE LOCK S
44 [1/4” X 1-3/4” HWH ITW TAPCON CONCRETE SCREW STEEL BETWEEN THE LLCK AND o &
45 [ 1/4" X 1-3/4" PFH ITW TAPCON CONCRETE SCREW STEEL BOTTOM BOLT STATION & =
46 |1/4” X 2—1/4” HWH ITW TAPCON CONCRETE SCREW STEEL ldrs
46A|1/4” X 2—1/4" PFH ITW TAPCON CONCRETE SCREW STEEL
47 |[#14 X 2—1/2” PFH WOOD SCREW (1—5/8”" MIN. EMBEDMENT) STEEL
48 |#10 X 3/8” SELF—TAP HWH—SLOTTED SCREW STEEL
50 |#10 X 1—1/4”" SELF DRILLING TAPPING SCREW ST. STEEL
51 |#10 X 3/8” THREAD CUTTING SCREW ST. STEEL -
52 |5/16” X 1—-3/4” HWH ELCO ULTRACON CONCRETE SCREW STEEL TYPICAL ONE 5
52A[5/16” X 1-3/4" PFH ELCO ULTRACON CONCRETE SCREW STEEL g)‘:gé\DL E$L2T4,’,*Tog PREINTS ACTIVATE RELEASE %
53 |5/16” X 2—1/4” PFH ELCO ULTRACON CONCRETE SCREW STEEL -

WOOD SCREW INSTALLATION NOTES:

1. Maintain a minimum 3/4" edge distance, 1" end distance, & 1"
o.c. spacing of wood screws to prevent the splitting of wood.

L

©)

4 \

\
RELEASEY

Wy

DOWN QUICK RELEASE
LOCATED AT THE BOTTOM
BOLT STATION

7/01/15 |UPDATE TO 5th ED. (2014) FBC
12/10/13 |ADDED POROSITY D.P. RATING

NOJ| DATE

2
1

oaTE: 8/26/13

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
FL—-10238.1

SHEET 12 oF 12

© 2013 R.W. BUILDING CONSULTANTS INC.



